N3MeHUTb 3/1eMeHTbl MaccuBa: Aesislynecs Ha 4
rnoaesinTb Ha 2, Aensumecss Ha 4 ¢ octatkom 1
3aHy/INTb, Aefiauinecss Ha 4 C OCTaTKOM 2 NMOMEHSTh
3HaK, Aensmecs Ha 4 ¢ oCTaTtkoM 3 yBEe/INYNTb Ha /.

(-99)mod(4)=(-99+200)mod(4)=(101)mod(4)=1
100mod(4)=0

if flag==0 and msJi]%4==0:

If ms[i]%4==0 and flag==0:

import secrets
import random
def randms(x):
i=0
while i<len(x):
sign=random.randint(0,10)
if sign%2==0:
X[i]=secrets.randbelow(200)
else:
X[i]=-1*secrets.randbelow(200)
i+=1

ms=[6,7,4,7,4,6,4,6,3,67,3,7]
randms(ms)
print(ms)

i=0
counter=0
while i<len(ms):
if ms[i]%4==0:
ms[i]=ms]Ji]//2
elif ms[i|%4==1:
ms[i]=0
elif ms[i|%4==2:
ms[i]=msJ[i]*(-1)
elif msJ[i]%4==3:
ms[i]=ms[i]+7
i+=1
print(ms)

import secrets
import random
def randms(x):
i=0
while i<len(x):
sign=random.randint(0,10)
if sign%2==0:
X[i]=secrets.randbelow(200)
else:
X[i]=-1*secrets.randbelow(200)
i+=1

ms=[6,7,4,7,4,6,4,6,3,67,3,7]
randms(ms)
print(ms)
i=0
counter=0
while i<len(ms):
flag=0
if flag==0 and ms[i]%4==0:
ms[i]=ms]Ji]//2
flag=1
if flag==0 and ms[i]%4==1:
msJi]=0
flag=1
if flag==0 and ms[i]%4==2:
ms[i]=msJ[i]*(-1)
flag=1
if flag==0 and ms[i]%4==3:
ms[i]=ms[i]+7
flag=1
i+=1

import secrets
import random
def randms(x):
i=0
while i<len(x):
sign=random.randint(0,10)
if sign%2==0:
X[i]=secrets.randbelow(200)
else:
X[i]=-1*secrets.randbelow(200)
i+=1

ms=[6,7,4,7,4,6,4,6,3,67,3,7]

randms(ms)
print(ms)
i=0
counter=0
while i<len(ms):
if ms[i]%4==0:
ms[i]=ms]Ji]//2
i+=1
continue
if ms[i]%4==1:
ms[i]=0
i+=1
continue

if ms[i]%4==2:
ms[i]=msJ[i]*(-1)
i+=1
continue

if ms[i]%4==3:
ms[i]=msl[i]+7
i+=1
continue

print(ms)



